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SECTION -1
ug - |

CHILD DEVELOPMENT AND PEDAGOGY
Tt ferer wa freremen

There are 30 questions in all in this section.
All questions are compulsory.

@IS H HA 30 TH B |
st g9 e & |

of the test refers to the consistency of scores obtained by an individual on the
same test on different occasion.

(A) Reliability (B) Validity

(C) Objectivity (D) None of these

wieror <ht 1 TeH o T T W T & adieur W foneft sfe gro s reument ht
T AR |

(A) Tovagrar (B) dear

(C) aEgHEar (D) FTH H HIE T

Right to Children for free and Compulsory Education falls under Act :

(A) 2009 (B) 2012 L]
(C) 2005 (D) 2010 E‘%ﬁ
A1 ol g 3T 3tfard fren o srferer fopw srfurfaem & srafa amar g

(A) 2009 (B) 2012

(C) 2005 (D) 2010

In giving instructions to the mentally retardeds the teacher must keep in mind that they :
(A) are able to pass examination

(B) learn more vocational skills

(C) work hard to compete with normal children

(D) spend time in competitive games continuously

Tregent 1 AT B9 G fafared & o1 ey <d T09 98 e @ anted e a
(A) uhen i s dwem g |

(B)  31feres SATadTRieh hivret #i |

(C) T =i o @1 ieeqerl s o for2 et aiem i |

(D) AR Sfeeelf @at d§ gu= foamd |

Learning through Reward and Punishment is :

(A) Observational learning (B) Social learning

(C) Operant conditioning (D) Classical conditioning
TS TUT GUS o WL § HIGHT & :

(A) HeUTHe TR (B) @R T

() Toramrad srgse (D) T STgae

Which of the following is not a step in conducting scientific research ?

(A) Conceptualizing a problem (B) Revising research conclusion
(C) Collecting data (D) Dynamic approach

e gy w <l fea & fafafea d @ s anwh wer i 2 7

(A) T THET I TTIRIMT (B) GunYH e ey

(C) 3MUR gt Uehd AT (D) Tifasfiet gfEshron
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Tendency of body to maintain a steady state is :

(A) Homeostatic (B) Balance
(C) Fostering (D) Drive
TR 3Taee SR T o forl 3R 1 Wi i Fel A1 8
(A) wmfRafd (B) HgeH
(C) o (D) Srom

Sita works at a day care center. The pay is low and hours are long. But she loves being
around children & has no desire to look for a higher-paying job. Sita’s motivation appears
to be :

(A) Intrinsic (B) Extrinsic

(C) Selfish (D) External

AT Tk S haX T H W I & | Ja S & T W o U A @, Tichd 98 Tl oh STEIE
TET TEE Hidl & 3T I da el Hehll ol qelTe i 1 g ges1 A8 W@l & | Hid 6
0T ferd bR hT ST 8 7 -

(A) 3R (B) =Ted e

(C) ameff (D) &l

In the identification of the gifted, we must give priority to :

(A) the parents’ opinion (B) result of objective test
(C) teachers’ opinion (D) the community viewpoint
SfcrTeTTet <l TE= | g6 ST fHehdT ¢t 9fed

(A) wrar-Tuar 1 (B) SEq(E TiE Sl IiomH
(C) Torereni Hr T (D) HHETRR g

According to Freud, the primary structural elements of personality are :
(A) Conscious, Subconscious, Unconscious

(B) Id, Ego, Super-ego

(C) Pleasure principles

(D) Defence mechanism

IS o IR, SAfadcd o TTATHH TS ad &
(A) <dH, 3=, 3T (B) 3gH, 3T8H, WEq
(C) Mg & fagm (D) T&TTcHes Sfafskan
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11.

12.

13.

)
“Life presents a continuous chain of struggle for existence and survivals.” is said by
(A) Darwin (B) Shaffer
(C) Jerslid (D) Spencer

Sirar, JTfEaea o a3 STt shi Teh Had T@ T&qd Ll & |’ 3 fohereh gr1 shat T
27

(A) wifda (B)

(C) e (D) &=

Which among the following is not a major period of cognitive development given by
Piaget ?

(A) Sensorymotor stage (B) The pre-operational stage

(C) Cyclic stage (D) Formal operations

st g eu T ssHTeHes foeh@ & fagra # frefeiiea # & & @1 faem &1 7@ wre’
TEE 7

(A) wHade feafa (B) qd-ufsramas feurfa %@E:é

(C) <shi =T (D) 3NU=Tieh T .

Mental activity that goes on in the brain when a person is processing information is called :
(A) Learning (B) Mental imagery

(C) Thinking (D) Concept

IE I3 SATHT G I FEIUT HL @1 BT @ A AEASh § T dTel] A1 i
Eh??ﬂ?ﬁ % :

(A) 3l (B) WY SheddT

(C) fommm (D) EHHT

Which of the following has not been shown to help maintain a healthy level of cognitive
functioning ?

(A) Participating in games (B) Working crossword puzzles

(C) Sedentary lifestyle (D) Reading

frafafga # @ *F @1 a9 B TG % W W R TR WH H 7eg B & ol
SYHI TE © 7

(A) SRISTH W7 & (B) SHIG-oE Ugeil UX 1 HiAT

(C) AT e Seft (D) 9T HEAT
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15.

16.

17.

(6)

Assimilation is :
(A)
(B)
©)
(D)
STTCHETEHI & :

Process of changing to better
Adapting to internal world
None of these

PL-2

Current schema to interpret the external world

(A) AU ThHT ST TN SRl ST o gty & fere

(B) g s i ulsha
(C) 3ATaReh g o TR 2T
(D) 30 A %S ot T

The three pillars of education are ,

and

(A) Teacher, Student, Curriculum (B)
(C) Education, Methodology, Teacher (D)
Toren & o @ 3MER & : Td

Principle, Teaching, Aim
Importance, Teacher, Objectivity

(A) Teres, B, TreasHR (B)
(C) Twrem, foranfafer, e (D)
Dyslexia is :

(A) Difficulty in reading skills (B)

(C) Difficulty in writing spellings
ISSIESPICT IS

(D)

(A) TG U HieTs (B)
(C) it ferem o wfgams (D)
Formula of IQ is :
MA
(A) A x 100 (B)
CA x 100
© —wma (D)
gfg Al e w1 g &
MA
(A) A x 100 (B)
CA x 100
© —wma (D)

l m
frgra, foeron, Sew %@E:Z

g, feres, aegimdar

Difficulty in understanding maths
Difficulty in competing

TIfoTe THEH o i
gfereaat # wfers

CA
MA

MA

ﬁxlOO

x 100

A
MAXIOO

MA

ﬁxlOO
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19.

20.

)

Which among the following is not a subjective method to assess personality ?

(A) Individual history (B) Interview technique
(C) Inventory technique (D) Rating Scale
fafafad 4 9 % @ sfeaa =1 Aead w1 & o) v safeama fafr a2 2
(A) wafFaa sfoem@ (B) TIEITehR qehriteh

(C) =g Tl (D) foerfeor mroefy

Which among the following doesn’t fall under the classification of mental retardation ?
(A) Mild retardation (B) Moderate retardation

i
(C) Severe retardation (D) Acute retardation (=
frefafaa 9 @ @ a1 aHfees Hear o arfierter o STarid T8 AT e ¢
(A) Eeeh! Hed (B) TeIH Hedl

(C) TvR HEa (D) g wea

A series of pictures is shown to the subject and he is asked to make a story, is used in

projective technique.
(A) TAT (B) Role Play

(C) Rorschach (D) Dramatic Production

=gt w1 forsll 61 U e fowm St @ 3R 38wk el 9 % o e 9 2, I8
w&rdt Teheieh | TR fehd STaT 2 |

(A) HAMH GIL0 e (B) yfirent fatg
(C) Ui (D) et s
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22.

23.
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25.
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The is the immediate environment in which the individual lives.
(A) Microsystem (B) Mesosystem
(C) Exosystem (D) Chronosystem
a1 feheam ararer 2 ford safe war e |

(A) H&A gored! (B) TR
(C) Tl foeH (D) RICTshA

proposed the theory of multiple intelligence.
(A) Howard Gardner (B) Freud
(C) Binet (D) Thurstone
A =g-gfg w1 fagia yearfaa R R | %&Ef
(A) FTEE TER (B) W =
(C) TH (D) oEA

According to Right to Education Act, 2009, no school to be established without obtaining
certificate of :

(A) Appreciation (B) Recognition

(C) Terms and Condition (D) Authorization

RTE 3tfafrm, 2009 % 3ar, Fe=falaa fea yomor-ua & foam &18 foemem wenfya &
fopan SRemT 2

(A) S (B) W=

(C) T wd (D) iferepR

Any relatively permanent change in behaviour or behavioural potential produced by
experience is called :

(A) Learning (B) Thinking

(C) Cognition (D) Motivation

ITVE G 3cq~1 FER AT FAER &Aar # feret off sTueiehd Tmit af@d sl el ST
g1

(A) 3l (B) fermmur

(C)  Frpfd (D) S

Which among the following is involved in learning process ?
(A) Physiological (B) Psychological
(C) Environmental (D) All of the above
frefafaa 9 @ e i ufskn & et & —

(A) IR (B) AT

(C) wteeft (D) I gl
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26.

27.

28.

29.

30.

®

In the field of mechanism of heredity, modern studies have been done principally in which
direction ?

(A) Cytology (B) Biometry

(C) Experimental breeding of animal (D) All of the above

SIS o 3 37E % & |, T wve fopw fem i 3T 3R § 2

(A) HIRHIETH (B) Stafafa

(C) SRl =T IR Yo (D) 3w At

RTE Act, 2009 directs working hours per week for teachers.

(A) 40 hrs. (B) 45 hrs.

(C) 42 hrs. (D) 48 hrs.

RTE sifufam, 2009 fererent = ford wfer grears v w2 o o w1 icm e 2 2

(A) 4095 (B) 4590

(C) 429w (D) 489w

Which out of the following is not a biological determinant of personality ?

(A) Nervous system (B) Ductless glands

(C) Somatic structure (D) Situational structure -
freferfiad 3 & B s 1 e frafes 788 7 LT
(A) dfemtam (B) daTferge ufemi

(C) cfes TxmmT (D) feufos= g

Which of the following is not a general law of heredity ?

(A) Progression (B) Variation

(C) Regression (D) like begets like

frferRaa o @ wia Srafesd % amm= Fem i e 7

(A) wfd (B) FUI

(C) ST (D) 98 UeT e @

As per Right to Education Act, 2009, Elementary Education means :
(A) Education from first to eighth class (B) Education before first class
(C) Education from 8th to 12th class (D) Education in middle school

RTE 31f¥f3=m, 2009 % 78R Srfies frem 61 1 2
(A) UE! HeTT H IS el deh <hi e

(B) 9o ivft & ygel 1 farem

(C) 3T & Sgd! hefl deh <hi fre

(D) wreAfies frem
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36.
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HHET -1
=R

THEUSH FA30 THZ |

avft 7 rfEE 2 |
Fraferftaa amern @ faemraras a8 -
(A) IE G HReAl 2 | (B) FAUFEAEE |
(C) 3TISHT ST HET | A | (D) 3R | Ig T8 T |
T o YR R § 8 = a8 -
(A) LA 91 (B) oz =
(C) TmuTes I (D) HHI I
U G @ -GG TG ST 37 i Tehe i aTeT T & - %’E
(A) =T & M (B) =i Ut Tl
(C) SR Goheht AU <& (D) @ HIEAT
‘317G 1 3741, TS T T FATehifad 1 3T 7 -
(A) SIH-SEreR fauf A1 o | (B) quta: a-e & |
(C) U 3TN HT & HTEMT | (D) FfgeH foheg T70 |
T WT13TH o f3reror <6t w=h= faferni d @ R fafr g -
(A) T HE fafer (B) 3t fafe
(©) wu fafy (D) TTSa-T&e SoTTett
Tarequr 3UTTH § 1 TH BT TS T TEO! ANTEH & -
(A) HeH fargmor (B) ame faretor
(C) T3 ASHT (D) feres faremor

TH e H T o aet 1 & i 7, hedat, fawad, deh wifdaat sedt 8 3R omgd famaa
- TNTd @ | S99 STcTeh o [ohd <hicl oh T haT 8 ?

(A) IF=h T o few (B) i@ et o foTu

(C) TerstR 1eT & fetu (D) 33d A o foIg

eyt ved, foww wmft Wy ge, fafay wfenfiaett &1 smee, s, Twes, 9w
HRISHH YA, Sl o S T ST Steh BT ST TATTRT sravr shivre fashm 4 fohm &
% wTeTehl o fTe & 7

(A) 3G &R (B) 3= WTUfires &R

(C) g fareqor = (D) wETETe™ f31emr &R
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39.

40.

41.

42.

43.

44.

an
A1 % foTT 7T e o1 aTaH 99T 2T -
(A) 68 9Ty 3y ot (B) 128 1599 g ai
(C) 18¥ 2199 g & (D) 21¥ 2499 g T
Tedl Wi # g et st e Afue gAT =W 6 fhe W % BEl % ot g9y S
A & ?

(A) TRIRER W (B) JATERX T

©) PwRw (D) g T ™

TG - Jehl o 3Tk awel # & i a8 —

(A) W (B) it

(C) Torw wmmfi (D) =R et -
T T T2l o A fARaT |” 7o 1 THR B - 5L
(A) wglashed™ T2 (B) T I

(C) FsurcHs 597 (D) sffehd %

frefaRaa wreai # 7o o= <6t ST forsreT ae Ui -

(A) Tovagrar (B) dear

(C)  AfcreaTashe (D) SATFETRERT

T e SATIh oo JUNTeT 3T & Tieg I8 ATHeht avfl 81 Tehdl! & 91el

(A) TR T Ued B, 3TT=feh Jodieh o ek TIeTT o UTwdTeh STeRT-3TelT gy |
(B) Tnereni, ST wa 1faTeehi ot T -T9T WA A7 |

(C) B I TR e o1 a1d 54 a8 ved & |

(D) Toreres 9 BT QAT w3 H =k @ a3 37k T & |

frefarRaa et w1 Tgeht I8 7T TE1 o IR ffaT : (Fe 9. 45 9 54)

Fgd @ T 3R 98d el § WS UgaTd ot 3Td B ol =X Sreamadl o1 1 &1 &1 ieh ohl

&1 %1 T 2 | 3o 3T & 7 fe@s ot Nwd, i iR et o1 fear vt | vE wed
IgTEt Sl BT o ST T, IcATE IR Tl hl Io1 & shienfe < |1 ged! foams 9o, 38
Ti=gd T TS | I HUT | T HT HICAI TG ShIL VAT & B | 8 Aifcersh a1 & ; a9 a1 T |

TUE Y T & Uk fIaH B | TIGUE TSThIT & 3TR cAlehehld €HehIT B | ST&T TSTehlT &Hehq I

Then i fo@Ts 1, 8T 39 USihid 1 WEehl $© a9y TSl 1 ST q9ET IMfeT | UHT i
STehIY o Tt 3T Ul ol TSR] &1 B Tehdl | 3Heh! THM ST 3794 ToTU 3TTerwares I8! a9
Hehdl |

45.

TR e 1 I 2 -
(A) T B) fifwera
(C) @& (D) gy
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‘AR 3o § T HT IR & -

(A) TorE B) gl

(C) FUHY (D) & =Y
HTAT e H THH B -

(A) TgaumE (B) §g &=

(C) Ty qHTH (D) HHYTT THH
frferRaa sredi & waaT=e T3 I & —

(A) 3Th (B) o [
(C) ferre (D) & i
freafaRad weel o sreqw e @ -

(A) B (B) w7

(C) Hrfesrh (D) BRI

‘gl gl b I S5 hicT ¥ TST UgHTd et AT B Tepell &R AT <61 S+1 T+l &l A eh ohl
FHT AT 8§ | STy | {@ifehd 31eg H T 1 YRR & -

(A) TrETEeh ferrmoT B) Tfvea ufmmorere fasivo

(C) rffyaa ufmorares fasmo (D) GehaaTeeh fa=IyoT

Rrfererar vise § T I ISR & -

(A) HHaTEH Ha T (B) ShUUTdTE Shd T
(C) TS dfgd Jer (D) foparareres &a yea
‘Tz 9Ta T Fea e Yed g 1" — 9T o folu Ush 16t B

(A) dHifcreh (B) Hrfeaeht

(C) wTcHth (D) dTead

1T’ T2 T ToAH W2 & -

(A) T (B) Hfua

(C) I (D) F

(A) 3R (B) 39BN
(C) 3w (D) g
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55S.

56.

57.

S8.

59.

60.

(13)

frfarRaa st w1 Tget I8 T w1 o ST fAaT : (I HE&AT 55-60 )

R 3R A feT o T faumar soh gew ¥ s 3R sy snenfare wiat i gfe
HTT 2 | AT I 6 TR 31 A1 2l Ig 3! g e, M3 Iiet 3R 371 & o HLm 2 |
o 71 foRet Bt T TaT | AfE sHeRt IS e ¢ oft 3 o 36T 38 9 A6 B i 3Eehl
Tt -9l 7; T 3Eeh! §Y ol 8, Bl 3Eh! STRRINTN 8, HehM $HeT I0F 3R 3G I
M 2 | I ! T, et 1, RaeTmr-Tierrn, 3ueh s shi 319+ =i hl atg el T,
ol TR o el I8eh 1Y Td TR T 91 T 8 A g ? &, SRl 3R 31 <91 51
TopamT o <@ WA &/, 3T e o1 @l | % A A 31k el § — “Hiel WIg firet TUS” Wiel
wTet TR 1 $7eR AT Gel EIGR 1 g3 ol & | 37eh! B i ol H § g 3 =Iza1 o4-
TR Ik (o] T IS 8 | ¥ i o ST |19 3 |

foear sueh Te@ ¥ Sifaraia 3R 31gyd smefaes wal i gfY wtar ¢ 1 frfafaa st §
TEiferd e @ Fi=1 31 Ted e I 8 -

(A) RHTCHT ¥ Graeel T@- el | (B)  3ATcHT Taeft 3 |
(C) STCHT-ITHTCHT & T Tg a1l | (D) Ul SemeeT |
frferfaa e & sga=H wea @ -

[=]: ]
(A) aﬁ (B) S =y
(C) Td (D) T
‘T 78 Pt R T e & I TR P FA TR 7
(A) TUf g (B) | Wfersrd T
(C) HHI ¥hIA (D) IdHH T
fFrafafad wsei 9 i forg <61 See 2
(A) €19 (B) Wehid
(C©) ==H (D) <A™

AR IR : T 3R Ta foumar s9 ge | =g 3R 31eyd senfores Wi 6l g
AT |’ IR § 1gifehd Iree kT faqtia forg g

(A) faush (B) faum

(C) ferarft (D) e

U I < ST A1Y 3 |’ ST I U1 Y[eRTdl | Seoi T aTeRl BRT

(A) I e o ST A1Y B | (B) I ehfdl o ST A1Y & |

(C) 3 epfdl o ST TTY & T | (D) 3 TRIE T & FaH 1Y T8 B |
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

‘Leading from simple to complex’ is used in the principles of :
(A) Gradation (B) Habit formation
(C) Controlled vocabulary (D) Follow the natural way

Which one of these is a principle of ‘Translation cum Grammar’ method ?

(A) To teach English directly.

(B) To establish bond or a link between thought, expression, experience and language.
(C) The unit of teaching is a word not the sentences.

(D) The sentence is the unit of teaching in this method.

Which method is a midway between the two old methods; (Translation cum Grammar
method and the Direct method) ?

(A) Inductive — Deductive method (B) Bilingual method

(C) Dr. Michael West’s new method (D) Audio Lingual method

Which one of these is related to the ‘Inductive — Deductive method’ of teaching English ?
(A) Itis aslow procedure.

(B) This method discourages the students to be mentally active.

(C) Priority of reading.

(D) The sentence is the unit of teaching in this method. E:E
Which skill is the basis of good learning of the language ? E{ﬁj

(A) Speaking skill (B) Explaining skill

(C) Reinforcement skill (D) Listening skill

Choose the correct option which is not a technique for speaking skills :

(A) Reproduction (B) Question — Answers

(C) Role play (D) Model Reading

According to Thompson and Wyatt, how many objectives are of teaching rapid reading ?
(A) Three (B) Four

(C) Five (D) Six

Who was of the opinion that reading ability can be developed by reading books in solitude
with ease, interest and pleasure ?

(A) Menon and Palet (B) Robert Lado

(C) Rajgopalan (D) West

Oral reading is also known as :

(A) Intensive reading (B) Silent reading

(C) Loud reading (D) Library reading
Checklist, Rating scale, Interview schedule and Anecdotal records are tools for :
(A) Summative Assessment (B) Informative Assessment
(C) Annual Assessment (D) Formative Assessment
Which of these is not a technique of evaluation ?

(A) Appropriateness (B) Effectiveness

(C) Imitation (D) Practicability

Check-list technique is used for evaluation :

(A) results, attendance, participation in games, sports.

(B) interest, attitudes and values of the students.

(C) of significant event and work performance of the students.
(D) None
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Which one of these commissions and committees has not made recommendation to
encourage internal assessment through continuous and comprehensive evaluation ?

(A) Hartog Committee (B) Hunter Commission

(C) Mudaliar Commission (D) None

Which one of these is not objective of CCE ?

(A) To make the process of teaching and learning a teacher — centred activity.
(B) To make the process of teaching and learning a learner — centred activity.
(C) To help develop cognitive, psychomotor and effective skills.

(D) To make evaluation an integral part of teaching — learning process.

Read the passage and answer the Question Nos. 45 to 49 :

India today presents a very mixed picture of hope and anguish of remarkable advances
and at the same time of inertia; of a new spirit and also the dead hand of the past and of
privileges; of an overall and growing unity and many disruptive tendencies. Withal there is
a great vitality and ferment in people’s minds and activities.

It is remarkable thing that a country and people rooted in this remote past, who have shown
so much resistance to change in the past; should now be marching forward rapidly and with
resolute steps.

Choose the synonym for the word ‘vitality’ :

(A) lethargy (B) torpidity
(C) energy (D) externality

Choose the antonym for the word ‘anguish’ : i
(A) ecstacy (B) agony E‘%
(C) excruciation (D) affliction

Choose the correctly spelt word :

(A) Fermantation (B) Presantation

(C) Picturesque (D) Resoluation

‘Adverb’ for the word ‘disruptive’ will be :

(A) disrupt (B) disruptively

(C) disruption (D) disrupter

Choose one word for ‘a tendency to do nothing or to remain unchanged’ :
(A) anguish (B) disruptive

(C) ferment (D) inertia

Read the passage and answer the Question Nos. 50 to 54 :

The rich can provide their children with all that money can buy : rich food; expensive
clothes, cars and every other imaginable comfort and luxury. But they simply cannot give
them what they need most — parental care and affection on a personal level for which there
is no substitute in the whole world. These children who are brought up almost entirely by
hired attendants develop a twisted personality. Their rich, busy and well-bred parents are
one day shocked to find that their children have developed some of the traits of their own
attendants which are, to say the least, considerable less than well-bred.

......... and every other imaginable comfort and luxury. Here ‘imaginable’ is :
(A) anoun (B) aconjunction
(C) an adjective (D) an adverb

B
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Choose compound adjective from the phrase ‘well-bred parents’.

(A) well-parents
(C) well

(B) well-bred
(D) bred

Which one of these phrase has a determiner in it ?

(A) But they simply cannot give.

(B) The rich can provide their children all they need.

(C) There is no substitute.

(D) Hired attendants develop twisted personality.

PL-2

‘These children who are brought up almost entirely by hired attendants develop a twisted

personality.’

Which tense is used in the above sentence ?

(A) Present perfect
(C) Present indefinite

Which of the following has the three degrees of the adjective in their correct form ?

[0 ]
(B) Present continuous Eﬁi
(D) Past indefinite

(A) Simple, more simple, most simple (B) Rich, more rich, most rich

(C) Little, less, least

(D) Expensive, expensiver, expensivest

Choose the correct interrogative sentence :

(A) Had been it raining for long ?

(B) What been it had raining for long ?

(C) How had been it raining for long ? (D) Had it been raining for long ?

Choose the correct option to fill the blank in the sentence given below :

Admittance to him by the guard.
(A) were refused
(C) are refused

(B) was refused
(D) will be refuse

‘So help me, Heaven !” he cried, ‘I will never steal again.’

Choose the correct indirect speech of the above sentence :

(A) He called upon Heaven that I would never steal again.

(B) He called upon Heaven to witness his resolve never to steal again.
(C) He called upon Heaven to never steal again.

(D) He called upon Heaven to witness his resolve not to never steal again.

Choose the ‘Affricate’ sounds :

(A) [t d3
©) [fv]

(B) [m,n]
(D) 16,9]

Phonetic symbol / transcription for the word ‘Guttation’ is :

(A) [gatef(o)n|
(C) | ga'ttes(o)n |

(B) | ga'terf(o)n |
(D) | ga'ttars(o)n |

The fundamental order of listening, speaking, reading and writing should be followed; it is

the general characteristic of :
(A) Principles of selection
(C) Principles of habit formation

(B) Principles of gradation
(D) Follow the natural way
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SECTION - 111
LANGUAGE - 11
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

The twenty-six letters of alphabet have  sound symbols.

(A) 20 (B) 24

(C) 44 (D) 45

The phonetic symbol of the underlined letter in the word ‘thin’ is

(A) 0 B) 6

< 3 D) ds

The phonetic transcription of ‘lung’ is [

(A) /lan/ (B) /long/ zEﬁi

(C) /long/ (D) /lexm/

The word having the sound of ‘ea’ is

(A) pear (B) hire

(C) moor (D) roar

‘h’isa sound.

(A) voiceless (B) voiced

(C) palatal (D) wvelar

‘Expression should be impressive’ is an imperative of

(A) Accuracy and correctness (B) Naturalness

(C) Measurement (D) Evaluation

‘Freedom on part of the speaker is essential’ ......... is a rationale of

(A) Direct method (B) Structural approach

(C) Communicative approach (D) Substitution approach
is an advantage of communicative approach.

(A) Listening (B) Speech ability

(C) Writing (D) Reading habits

Language has .

(A) script (B) gesture

(C) feeling (D) sound

If a Bengali family lives in Delhi, the children in the family will learn in family and
from environment.

(A) Bengali, English (B) Bengali, Hindi

(C) Hindi, English (D) Hindi, Sanskrit

Evaluation is done on two basics
(A) cumulative (B) terminal
(C) sessional (D) formative and summative
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The comprehensive evaluation involves

(A) assessment of answer books.

(B) performance in co-curricular activities.

(C) assessment of health habits, work habits, cleanliness and co-operation.
(D) All of the above

‘Class magazines’ is an example of
(A) assignment (B) project work
(C) writing test (D) speech test

One of the objectives of the remedial work is to

(A) highlight weak students.

(B) identify the cases who are lack in studies.

(C) spot the weak and punish them. ;E%Ei
(D) make the weak students aware of their backwardness. =

Remedial teacher should keep a liasoning with the parents to
(A) ensure the weakness of their child.

(B) help in identifying the cause behind child’s lagging.
(C) work in same environment.

(D) rebuke the students.

(Prose passage Q. Nos. 76-80)

Almost the whole village stopped to watch the big boat being built at sometime or the other.
No one owned such a large boat or even worked on one. Perhaps they were jealous and that
was why no one had a good word for it. They did not want to believe, it would do well at
sea. But, they, in a way, were proud too. Building a big boat like this in their village was an
achievement.

Do you like to eat a pizza ? Do you prefer a hamburger ? The two questions can be combined
using

(A) and (B) or

(C) but (D) that

I am sure. It is true. The two sentences can be combined using
(A) so (B) than

(C) but (D) that

Many a man done this.

(A) is (B) has

(C) was (D) were

Gold and silver precious metals.

(A) is (B) has

(C) have (D) are

e no one had a word for it’ ......... The underlined word in the line from the passage
stands for

(A) the boat (B) the people

(C) sea (D) achievement
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(Poem Passage Q. Nos. 81-85)

‘Weavers weaving at break of day,

Why do you weave a garment so gay ?
Blue as the wings of a halcyon wild,

We weave the robes of a new-born child.’

81. ‘Blue as the wings of a halcyon wild.” The figure of speech used in the extract is
(A) alliteration (B) simile
(C) metaphor (D) assonance

82. The rhyme scheme in the stanza is

(A) aabb (B) bbaa E5E
(C) abab (D) abba Ej%
83. The plot of a story may be
(A) comic (B) tragic
(C) satiric (D) all
84. Dravid was the wall of our cricket team.
(A) Simile (B) Metaphor
(C) Personification (D) Rhyme
85. Inanimate objects and abstract notions are spoken of as having life and intelligence in
(A) metaphor (B) simile
(C) personification (D) plot
86. You be ashamed of yourself having made such a comment.
(A) may (B) should
(C) can (D) could
87. He chased the thief as far as he .
(A) may (B) should
(C) can (D) could
88. The car seemed to have
(A) Dbeat the bush (B) tried to pin
(C) vanished into thin air (D) boarded the wrong train

89. ‘Drama’ originated in

(A) Greece (B) Rome

(C) Italy (D) England
90. An ‘octave’ is a stanza with lines.

(A) 6 B) 14

© 12 (D) 8
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(D) YJI9 3 W& 96 3 fast aH I 957 |
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A) 3 (B) I
© 3 D) #

‘Ons fiaaz i, fer gty I fomr 1” T St g3 ST "I I MESHT I J ¢

(A) fHEI3 = (B) HUGs TR

(C) YHeT9d TF (D) AUS3 T

YAt s e vy T S 39T T

(A) I3, SIH, Tt | (B) &I, fafa, 9337 |

(C) fafgwr, IaH, 9337 | (D) d9H, 337, fafa |
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(B) e [RiatsHi Bl (dsiid, stid €id o331 6.
(C) e [ueasHl HeAlldsiir- st av3=L -2l

(D)  crrilRlets [FRizudlgl sl 2 .

HUIGEMLAL UL AYRASL GlLEL el oLl

(i) Huy (i) ol 2 Hgul
(i) [A™aarg (iv) oL

(A) (i) (B) (i) 2t (i)

(C)  (iii) 21 (iv) (D) (iv)

(21ats 2aclis gL [Aenell Heuls s wgldell 531 s & ¢

(A) [A=lal (B) 3Aslare
(C)  SHHIMES (D) GuRlsd el

AR A ARUALRUAL
(A) AL U SRl (B) @l Ae5201 AL YRA.
(C) AUl 81 5, (D) 2slowud Yg el WA B,



PL-2 (63)

A2 AU LELRLAL ALAR W AL 76 Ul T8 o llol AL

L 58] A 53l 2 sl Blsidd G{lBHA o AU dl WL AR Hidl d=Ts 20 dqull
wold Sl fde ol 2s, ol Fiyedl, ol oigirl 1A el drastia 2
ARl (A HIE2 SHUA RAEUL B2 61l s 6. DAL AR ARS[AAL ARRAR el HePYRMAL HLcll
AR[E 2AMBL AP AL €51A.

NN

76.  etsicl GllnAl Hldl dR AMEL S U 1A ¢

N .~ E:&m
(A) ¥ (B) WU ‘E@
(C) e (D) AR

77. 25, [Rysdl, el A drdsiidl ¥l Sl ABIL 2ARIovd Hi2 SHRUL AEIURL =3 ol Yzl

-~

& ¢
(A)  [ds ol (B) evLdlA $™L
(C) 19y (D) gilu

78, HELYIN WCEHL SULUHIU S ¢
(A) &5 UHRL (B) 2Apileud
(C) dR™ (D) sHuRY

AR AN YEUUAL AR UHAVAL 79 ] 80-LL o llod 2AM :
2l s Bl Basul €153 ;
€9 QUi -e A sHgHHL [dasHl elszl.
Relierd 1), 52 Bl o UL URGUM B,
Slct? €9 516 ARALA vissHL gls3l.

79.  €ls3L el SAL AU B HUS ¢
(A) &l Basul (B) Uzl sl
(C) &l sl (D) 2RIl BEsHL

80. “uRuwH’ 2los (€L el

(A) Ylecl (B) illct
(C) tjusledl (D) s (et il

81.  SlfURL ledl, drq, 22U, W AL GUAAL AHA 2 S8 ¢
(A) sl (B) U
(C) (Al (D) Bulaamel



82.

83.

84.

8s.

86.

87.

88.

89.

90.

(64) PL-2

“Belddl Aol sl A2l dlsuHl Buldamel s34 6 ¢
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SECTION-1V / @Ug - IV

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.
The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

39 @Us T g1 3UWUg 31T [V(a) Nt aen fo@m wa [V (b) |k 31e9@m & | gH1 ST@vst
% | 60 Sgfashedia I § |
wdeneff i IV (a) niftra aen o steran IV (b) amnfres stearaq, fSeht 999 St 3Tde T -ua o
fora 2, ® 9 foreht ueh Su@vE &1 AT 8 TE Tt 60 T BT ST AR |
SECTION-IV(a) / @UE — IV(a)
MATHEMATICS AND SCIENCE / Tlﬁ'mﬁm%lﬁﬁ

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

TGS A B 60 T3 7 | Fo sreaffat 3 g o o1 == fopa 2 32 el wem e arfemi 2

91. In the given figure, the lines XY and MN intersect at point O. If ZPOY = 90° and
a:b=2:3, then the value of Zc will be :

ip
M =
& b .
— 5 —
C
\
(A) 90° (B) 126°
(C) 144° (D) 150°

fe & fom ® W@rd Xy em MN foig O W wfoeae et § | afg ~POY =90° 3fa:b=2:3
B, dl Lc &1 HH 811

1P

H
v

(A) 90° (B) 126°
(C) 144° (D) 150°
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If all the three sides of one triangle are equal to the corresponding three sides of another
triangle, then the two triangles are :

(A) Perpendicular (B) Congruent

(C) Parallel (D) None of these

afe T Tt A1 1 S, e gt <61 & ofii o & ST El, df gl e Eia | -
(A) =Eq (B) Hafmam )

(C) AT (D) T4 & I3 TE =

The length of a chord at a distance of 6 cm from the center of a circle of radius 10 cm is :
(A) 12cem (B) 14cm

(C) 18cm (D) 16cm

10 GTHftet Forsa aTet 9 o oheg § 6 HreiHiet gl W ferd Sfia shl erg 2 -

(A) 123 (B) 143w

(C) 189 (D) 16Tt

If the perimeter of an equilateral triangle is 48 cm, then its area will be :

(A) 64~/3 cm? (B) 554/2 cm?

(C) 3243 cm? (D) None of these

e foret TwaTg PV o1 ITHTT 48 T B, 1 3T &A% BT :

(A) 64+/3 =t ot (B) 5542 =i @t

(C) 32+/3 =i @t (D) 0 8 H1S &l

If the lengths of the diagonals of a rhombus are 10 cm and 24 cm, then its perimeter will
be :

(A) 34cm (B) 68 cm
(C) 52cm (D) 56 cm
I Teh FHTGHS o foehull o1 diaTgar 10 FEter 3R 24 FEHHiet 31, a1 38eh! THATT BT -
(A) 34T (B) 68 Gl
(C) 52 (D) 569t

A room is 12 metres long, 9 metres wide and 8 metres high. What is the longest rod that
can be placed in it ?

(A) 29 metre (B) 17 metre

(C) 15 metre (D) 21 metre

Teh AU 12 Wi @, 9 Hiet =gt 9ot 8 HiX S 2 | 30 ot 8 <! forat ol v Tt o
Thdl g 7

(A) 29 HX (B) 174X

(C) 15X (D) 21HX
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The main objective of tabulation is :

(A) Presenting the data on the basis of their characteristics.
(B) Presenting the data in a systematic manner.

(C) Presenting complex facts in simple form.

(D) All of these

HROf 1 &7 3639 & -

(A) THhI I 3Teh! ToRITATST o TR T T T |

(B) HYhI ! shUSG AT € H T T | ;3
(C) Jfect qei ol T ®9 H T AT | Eﬁf
(D) A |eft

The mode value of a series is :
(A) Intermediate value (B) Most frequency value
(C) Minimum frequency value (D) Marginal value

Tereft 2roft =61 S5 T BT & -

(A) weEad qod (B) Halfueh STFERAT qod
(C) I ST HeI (D) €= qo
The coordinates of a point on the X-axis are :
A) (2,3) B) (0,2)
© 2,0 O 4L
X-3181 7 fer formg % fders & -
A) (2,3) B) (0,2)
© (2,0 D) (1, 1)
The probability of having 53 Tuesdays in an ordinary year is :
1 2
A) 5 B) 7
3 4
© 7 D) 7
T HIUROT 99 § 53 FITaR g <h TTRIhdT & -
1 2
(A) 7 B) 7
3 4
© 7 D) 7

Which of the following is a teaching aid of Mathematics ?

(A) Napier strips (B) Logarithmic table
(C) Geometry box (D) All of these

=1 & Tftra Rregor <6t wETe T R -

(A) e afgat (B) U HTOf

(C) <afufa st (D) Iasf
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102. Which of the following Mathematical statement is true ?
(A) Evaluation = Measurement + Judgement
(B) Evaluation = Measurement — Judgement
(C) Evaluation = Judgement — Measurement
(D) Evaluation = Measurement + Judgement

feada s @b ser g g 7
(A) oA =HToH + Fof (B) HeATeh = {19 — fAuf
(C) e = fur — AT (D) HedTehd = A9 =+ o

103. Which of the following is not an Indian Mathematician ? E:E
(A) Ramanujan (B) Brahmagupta E@-’g
(C) Aryabhatta (D) Pythagoras
1 1 | o AT TTioas 8 & 7
(A) THISH (B) w&IT<
(C) 3ARivg (D) UTHTTRE

104. Which of the following is not the type of cognitive objective in Mathematics teaching ?

(A) Knowledge (B) Understand

(C) Skills (D) Application

FfeTRad # © 1 |1 TToTd 1801 § HHIcHe 382 1 Ueh TR T8l 8 ?
(A) IH (B) 3rEEY

(©) R (D) g

105. Which of the following is not a method of Evaluation of teaching Mathematics ?

(A) Supervision

(B) Interview

(C) Teaching model created by student

(D) Dictation

e 3 & o ) v Roveror % qeariA 1 faf i 2 7
(A) Tl (B) HIETHR

(C) BHEIgisAT egmafegdr (D) HYfier@

PL-2
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Mathematical statement whose truth has been proved is called :
(A) Theorem (B) Axiom
(C) Conjecture (D) Postulates
Tforefar e forehl Tear fag @ 7€ ], e g
(A) T (B) AfwfEd
(C) iR (D) SARyERom

Main objective of Geometry teaching is :
(A) To teach the use and measurement of mathematical tools.

(B) To develop creative imagination in student. EmE
(C) To develop the power of object transmission in the student. Eﬁi
(D) All of these

(A) TIIOTET IUHTUT o TN T HIYH T T HTAT |
(B) BT H THTHS heuT Ik T TerehTd T |
(C) BT § a%] 0T Irfed shT forehrel T |

(D) A |eft

“Child is able to Recall definition of Rectangle.” This statement shows which learning
objective ?

(A) Understanding (B) Analysis

(C) Knowledge (D) Evaluation

“TTeTeh TTIA 1 TRATHT T TN L FH |7 I8 HH D § AW 399 il TSR
HLATR 7

(A) IAFaEIy (B) Tfarerm

(C) TH (D) HeATh

A child is able to construct a triangle on the basis of given measurement. Which main
objective fulfill through this activity ?

(A) Receiving (B) Responding

(C) Valuing (D) Skill

Teh STl ST T AT o MR 9T Teh T3S Y ToT oL ITdT & | SlTeteh hi 3 TTiafate g e
T 389 I Ifd Bl ] 7

(A) T& (B) IR

(©) T (D) i
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Children with strong intellect do not have qualities :

(A) They are more curious.

(B) Their area of interest are broader.

(C) They are emotionally unstable.

(D) The knowledge of reasoning is visible from young age.
T gfg ST STeTehi # I8 T TET Bl & —

(A) ¥ e g E |

(B) Eehl & 1 &1 SATUHh BT 7 |

(C) 3 STefeh T Y & FEATE &1 ¢ | o]
(D) 3¥carg & & 7% Wi BT 7 gk BT 2 | e
If 367 8) =272y + 1) then the value of x is :

(A) 0 B) 1

(C) 2 (D) 3

Ffe 308 =27+ DF FAx FIAAR :

(A) 0 B) 1

(C) 2 (D) 3

1 1
If x+y=7and x? + y? = 25, then the value of(;Jr;) is :

& = ®) 5
© 15 © 1o
e x +y=732+y =253%,a%(%+3mm%:
A = ®) 5
© 15 © 1o

A factor of the expression x> — 2x + 1 is :

(A) x—1 (B) x+1
(€) x+2 D) x-2
S x3 — 2x + 1 1 Teh UHETE ¢ :

(A) x—1 (B) x+1

€ x+2 D) x-2
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114. The solution of the equation 3x2— i 2x2— g =0is:
(A) 0 (B) 1
© 3 (D) 2
A o + 5 = O FEA R -
3x-4 2x-6
(A) 0 ®) 1 o
(C) 3 (D) 2 ;Eﬁi

3/8 100 3
115, — +.|— ><\/125 is equal to :
Ji6 V49 q

(A) 7 ® 1
4 1

© 3 ®) 7

N Ex\/@w%‘

A) 7 ® 1

© 3 D) =

3
116. The simple interest on a sum of money for 5 years becomes 3 of the principal, then the

rate of simple interest will be :
(A) 10% (B) 8%
©) 12% (D) 14%

%@wr&rwsaﬁwmwmwmaﬂ% Bl ST 2, 1 HTEROT ST <hl < g1l

(A) 10% B) 8%
©) 12% (D) 14%
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If the loss caused by selling an article for ¥ 560 is ¥ 50 more than the profit made by
selling it for I 720, then the cost price of the article is :
(A) R 665 (B) Ro6l5
(C) 600 (D) %620
e forsf &g 1 T 560 H o= | g3 81, T 720 H o= | 5T W & T 50 31k &, O a%g 1
FAAR :

[0 ]
(A) %665 (B) %615 =y
(C) 600 (D) %620

If the cost of 5 bananas and 4 apples is equal to the cost of 3 bananas and 7 apples, then
the ratio of the prices of a banana and an apple will be :

(A) 1:4 (B) 3:2

(C) 4:3 (D) 3:5

Ff¢ 5 el qUT 4 H1 1 Jod 3 el qUT 7 Wl h o o SR &I, A1 Teh el qUT Teh 6
il <hT ST B :

(A) 1:4 (B) 3:2

(C) 4:3 (D) 3:5

If 75 is added to 75% of a number, the same number is obtained, then that number is :

(A) 300 (B) 270
(C) 250 (D) 225
e forelt T&T o 75% | 75 SIS I8! T U &l S, 1 98 H&AT & -
(A) 300 (B) 270
(C) 250 (D) 225

The present population of a village is 1,30,910. If in the previous years there is an increase
of 6%, a decrease of 5%, an increase of 4% respectively, then the population of 3 years
ago was

(A) 1,30,000 (B) 1,10,000
(C) 1,25,000 (D) 1,15,000
TS T hl TAHH SHEEAT 1,30,910 7 | Ffe Ta aut J shERr: 6% 1 gfg, 5% <l HHI, 4%
(A) 1,30,000 (B) 1,10,000
(C) 1,25,000 (D) 1,15,000
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The process used in the separation of rice from paddy stalks is —
(A) Hand picking (B) Threshing
© Winnow@ng ' (D) _Sieving
et <h! FET SFEAT | TATae o JHFRTI H TR ThH & -
(A) T& =IH (B) 9fsm
(C) fasarem (D) <A
One of the steps used in the process of formation of common salt from sea-water is —
(A) Distillation (B) Condensation
(C) Vaporisation (D) Filtration
LY STt o TR THh S o Tehd H TR T U & -
(A) IEaH (B) o
(C) daTS9A (D) fi=rem

The chemical substance present in calamine solution that is applied on the skin to
neutralise the effect of ant bite is —

(A) Calcium carbonate (B) Zinc carbonate

(C) Sodium carbonate (D) Sodium hydroxide

=it o HTeA & TUTE i IS H o AT, =G T/ A T 9T hoid1sd oo d 3uferd
T e § -

(A) Hfcosm Hrae (B) T wrate

(C) wifeam HEMe (D) Wi BTggIrTES mym
The oxide responsible for acid-rain is — Eﬁﬁﬁf
(A) H,0 (B) CO

(C) SO, (D) CO,

-9t o foTu IeerRl STamss 2 -

(A) H,0 (B) CO

(C) SO, (D) CO,

The pair of thermosetting plastic is —

(A) Polythene, PVC (B) Polythene, Melamine

©) Bakelite, PVC (D) Bakelite, Melamine

YHTHTET TATfeeeh &1 I & -

(A) Titorefiq, it (B) Hiferefiq, AarmmTga

(C) iherTse, drate (D) ShalTse, HATHIS

The fuel with highest calorific value in kJ/kg unit is —

(A) CNG (B) LPG

©) Petrol. (D) Hydrogen

kJ/kg 3ohTS W Harlfres Srota Wi STt S99 @ -

(A) HITTH (B) TeiSA

(©) g (D) BTEEH

The type of teaching aid involved in experiment done by a student in laboratory is —
(A) Audio aid (B) Visual aid

(C) Audio-visual aid ' (D) Activity aid

uh feremeff grr sRiwTeTTer ® e foRd S o fafea fveror anem s yeR @ -
(A) FFHIYd (B) RIEYq

(C) FA-IE1gd (D) Toparenes |em
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128. In which group the unicellular, Eukaryotic organisms are included ?

(A) Monera (B) Protista
(C) Fungi (D) Plantae
o T U ISR, T ST e o o # 7
(A) = (B) wifew
(C) =g (D) A=

129. After fertilization, a mature and developed ovary is known as —

(A) Seed (B) Endosperm

(C) Fruit (D) Embryo

o= < 9T, Teh Toehféa 9 qiuee STUSTRI %l had & — %&Iﬂf
(A) o= (B) wwSreTH =
(C) »A (D) ¥

130. Which one is not necessary for photosynthesis ?

(A) Sunlight (B) Carbon dioxide
(C) Chlorophyll (D) Oxygen
TeRTSTHCTNYT < foTT T STTawee T8 & ?

(A) FdBTIHRT (B) hTsH ETEIATHTES
(C) FARIfhA (D) 3HTefS=

131. During respiration in plants the breakdown of glucose to Pyruvic acid is called —

(A) Kreb’s cycle (B) Calvin cycle
(C) Glycolysis (D) Fermentation
G H Y8 o G To[ehISt ol UTSEIah 3T H forered shaatrdl & —
(A) hed sk (B) hfead =k
(C) TATSHIAITE (D) TervaH
132. Who first described Golgi apparatus ?
(A) Robert Hooke (B) Robert Brown
(C) Camilio Golgi (D) Leeuwenhoek
FEYH Test! TR0 <l foher afvfa femam ?
(A) T TH (B) T&E Sm3A

(C) HHiel Ticait (D) TIoHEIh
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Which bacterium causes ‘Whooping Cough’ disease in human ?
(A) Bordetella pertussis (B) Corynebacterium diphtheriae
(C) Mycobacterium leprae (D) Neisseria gonorrhoeae
I A S & gHE § Href! @ AT EAr? ?
(A) SRR wfEd (B) HRI-aIEm fewdem

(C) WTShISFITEH AT (D) ~refE TR

Which type of sweat glands are present in human skin ?

(A) Apocrine (B) Holocrine

(C) Eccrine (D) All of these

T o= | TIg TTRT i 8 YR 61 8l 8 ? mjm
(A) TR (B) EICishTE e
(C) Tshred (D) I @t

Disease caused by deficiency of Vitamin-D (Calciferol) is :

(A) Night-blindness (B) Beri-Beri
(C) Scurvy (D) Rickets
Torerm-<t (pfeafrtier) i =i 4 8 e U 8
(A) Tdieht (B) O-sf
(C) et (D) frohea

In which animal asexual reproduction occurs by budding ?

(A) Amoeba (B) Hydra

(C) Plasmodium (D) Leishmania

B & TR 3 e g ST S A R 7

(A) FrHtsT (B) =IRgl

(C) wTsHIfETm (D) et

Which hormone controls maturation of egg in ovary ?

(A) FSH (B) TSH

(C) ADH (D) GH

SIF A1 g ST § 37SIV] o qiuesH i Fefa s g ?
(A) FSH (B) TSH

(C) ADH (D) GH
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Example of sexually transmitted disease is —

(A) T.B. (B) Cancer

(C) Gonorrhoea (D) Pneumonia

A T TT <hT I 2 —

(A) A (B)

(C) It (D) =gt

The example of Kharif crop is — EE
(A) Gram (B) Pea &%ﬁ
(C) Maize (D) Linseed

BT 3l HEE T I & —

(A) = (B) #AX

(C) HehI (D) AT

Which of the following is the oldest teaching method ?

(A) Reminiscences method (B) Evaluation method

(C) Projective method (D) Anecdote method

frefafaa 9 & = o gew y=i= Mo fafa g ¢

(A) Hfa ferf (B) HeaTh ffu

(C) w&ur fafeyr (D) kel fafy

Meaning of comprehensive evaluation in continuous and comprehensive evaluation —
(A) Evaluation of educational field

(B) Evaluation of co-educational field

(C) Evaluation of educational and co-educational field

(D) Evaluation of all subjects

TAd e SATIh YoToh H STdeh HedTeh b1 dTedd & —

(A) fereh &= 1 oA

(B) Ug-3feTeh & 1 Yodih

(C) feres Ta Tg-iferh &= 1 Yoo

(D) &t Torwii =1 Heameha

Which teaching aids are not included in the visual equipment ?

(A) Projector (B) Film strip

(C) Poster (D) Gramophone

% = e -agmes arfl gr-3uhtn | gitiferd T8 & ?
(A) TREX (B) frem g

(C) T (D) TTHHE
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A force F is acting on area A. If the force is double and the area is halved, the resultant
pressure will be of the initial pressure :

(A) half (B) double

(C) one-fourth (D) four times

T 9 F fohet &9 A T @1 R | A I I QAT a1 & B A R €, qf aRon g
TRIRT ST <1 &1

(A) 3t (B) NS
(C) TH-TUTE (D) =TT

A wooden spoon is dipped in a cup of ice-cream. Its other end

(A) becomes cold by the process of convection. Eﬁmﬁf
(B) becomes cold by the process of radiation. =
(C) becomes cold by the process of conduction.

(D) does not become cold.

ThE! hl Teh T i STTSHShIT o Te! H GEAT ST @ | $8ehT gal B
(A) g IfshaT 3 ST 3T & S |

(B) farfertor ufshan & ot Se1 & s |

(C) <ITeT UshaT % Il ST &l S |

(D) JeIE & |

Image formed by a plane mirror is :

(A) wvirtual, behind the mirror and enlarged.

(B) virtual, behind the mirror and of the same size as the object.
(C) real, at the surface of the mirror and enlarged.

(D) real, behind the mirror and of the same size as the object.

THA QU R ST TR Sdfee B @

(A) 3T, gl & He e At

(B) 3T, guur o fi® qut foe o |1Es o s
(C) dSTfesh, €U o I63 TR AT SATaed

(D) drifereh, UUT o e dT foid o A8 & St

The limit of audibility for healthy human is :

(A) 10 Hz to 20000 Hz (B) 10 Hz to 2000 Hz
(C) 20 Hz to 20000 Hz (D) 20 Hz to 200000 Hz
e WS o ToTu e S Bl 2

(A) 10 Hz® 20000 Hz (B) 10 Hz ¥ 2000 Hz

(C) 20 Hz ¥ 20000 Hz (D) 20 Hz ¥ 200000 Hz
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147. Full name of LED is :

148.

149.

150.

(A) Light Emitting Doll (B) Light Emitting Dynamo
(C) Light Emitting Drum (D) Light Emitting Diode
LED &1 qU 919 811 &

(A) TS IcdSieh Sl (B) TehIST ScESTeh SIRFHT
(C) SIS 3cduieh g (D) I 3cHSTeh SIS

Electric-cell converts

(A) mechanical energy into electric energy. =

%’Ei

(B) electric energy into mechanical energy.

(C) chemical energy into electric energy.

(D) electric energy into sound energy.

ferga—aret uRafda swar 2

(A) T ol fo@ S g (B)  forega Sl ol A1hreh Sott §
(C) TR S H R S E (D) fored S 0 e i B

Order of planets according to distance from the Sun is :

(A) Mercury, Venus, Mars, Earth

(B) Venus, Mercury, Earth, Mars

(C) Mercury, Venus, Earth, Mars

(D) Mercury, Earth, Venus, Mars

T € gl o SIER T8 HIHA R :

(A) TH, Y5, FA, T (B) 3, 34, 3o, W
(C) 39, T, JeAf, W (D) 9, JeAfl, 5%, T

Which of the following is not a criteria of a good test ?

(A) Reliability (B) Validity

(C) Objectivity (D) Subjectivity
Fr=forRea o @ 9 o1 w318 Tl 1 AIeE TE B 7
(A) Tt (B) S

(C) TS (D) AT

PL-2



PL-2 (79) B

SECTION-IV(b) / ©UE — IV(b)

SOCIAL STUDIES / QTHIS 3T

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.

30 @Ug H 3o 60 I & | N 1Rt 3 g vy o1 9w foren 2 3% aeft e e st 2

91. Which was an administrative subdivision of a Mughal province ?

(A) Peshkash (B) Jaagir
(C) Milkiyat (D) Pargana
e Tl H Teh YRITEHS THEHA HIH |1 AT ?
(A) YRR (B) WM
(C) Tufewaa (D) SUHEI
92. Which is a Major poetic anthology of Alvar Saints also known as Tamil Ved ?
(A) Tondaradippodi (B) Karaikkal Ammaiyar
(C) Tavram (D) Nalayira Divyaprabandham
TR Tl 1 Uh Y& HIA HehoTd (18 Aftiet dg o &9 § Y ST S1a1 8
(A) dicufewifs (B) HIEHRIA IR
(C) dqa™ (D) AARRIfCTTH
93. The Mother of Mughal ruler Jahangir belong to which Rajput dynasty ? %ﬁ
(A) Kachhwaha (B) Rathore =
(C) Parmar (D) Chouhan
TS I STEITR oh HTAT fohd TeTYd o9 § Fafed off 7
(A) H=SdTEl (B) Tdtg
(©) THR (D) dEH

94. “A cherry that will drop into our mouth one day.” In 1851 the Governor — General Lord
Dalhousie said this statement about which state ?
(A) Satara (B) Awadh
(C) Jhansi (D) Nagpur
‘¥ Bl Teh T AR & g | AT I |7 1851 | 7o St dife Satarstt 4 98 %A fohm
Tamea < = W et o ?

(A) & (B) 31a4
(C) et (D) gt

95. Which day was earmarked for “Direct Action Day” ?
(A) 14 August 1948 (B) 16 August 1947
(C) 14 August 1946 (D) 16 August 1946
Tegeg HaTE fead’ g i a1 fea faffea fomem mom o
(A) 14 AT, 1948 (B) 16 3T, 1947

(C) 14 3T, 1946 (D) 16 31, 1946
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99.

100.

101.

(80) PL-2

By which Constitutional Amendment the Age of adult suffrage in India was reduced from
21 years to 18 years ?

(A) 59 (B) o6l

(C) 63 D 7

form Gfaem weem o g vid § 9o TaTfeehr i 31 21 99 & gereht 18 9y i mff 7
(A) 59 (B) ol

(C) 63 (D) 71

Which feature is not in the “Preamble” of the Constitution of India ?

(A) Secularism (B) Federal Government

(C) Political Justice (D) Equality of Status

W oh |GG ! ST | A 1 forivar 78 & 2

(A) vY-faerar (B) TE IITEA

(C) TS = (D) st <6t auTar

Who was the Deputy Chairman of the Constituent Assembly in India ?

(A) Dr. Rajendra Prasad (B) K.M. Munshi

(C) A.N. Sinha (D) H.C. Mukharji

WA shl Gfae fmiE 9 s smerg e 3 7

(A) . TN J9Tg (B) .um. gt %@E:é
(C) uwu. &= (D) .. g@sit =
“Right to Property” is presently mentioned in which Article of the Constitution of India ?
(A) 224 (A) (B) 290 (A)

(C) 300(A) (D) 312 (A)

“gufe T SIBR” FAHH | WRA o Fiqe & forg srgse Haftfa g 7

(A) 224 (%) (B) 290 (%)

(C) 300 () (D) 312(H)

Which Constitutional Amendment was made to provide opportunities for education to the
children of 6 to 14 year of age ?

(A) 74% (B) 81t
(C) 86! (D) 91t
6 8 14 ¥ 37 o STcTohi o TIETT o STTHL 3T HUA B I GT e Tenes femam o 7
(A) 74at (B) 8laf
(C) 86at (D) 91df

Who are included in the electoral college of the Vice-President of India ?
(A) Nominated members of Parliament

(B) Elected members of State Legislative Assemblies

(C) Both (A) and (B)

(D) Nominated members of State Legislative Assemblies

T o STAFUTS o fat=reh HUge § i M & 7

(A) TS & T He= (B) T~ faamawmai & faifa ge=
(C) (A) 3R (B) Ml (D) TS faamEma o wia gee
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Which Article of the Constitution of India described the Power of the President to
“consult” the Supreme Court of India ?

(A) 143 (B) 147

(C) 140 (D) 145

IR % I AT Y Tt i 1 qgafel i wifert v o didem & fopd s A afta g ?
(A) 143 (B) 147

(C) 140 (D) 145

In which Part of Constitution of India described the Urban Local government ?
(A) 8 B) 9(A)

(C) 11 (D) 10(A)

YT o | o e v # wrgdt v smem aftfa 2 7

A) 8 B) 9 )

(C) 11 (D) 10 ()

What is the minimum number of Women Members in the National Commission for
Protection of Child Right ?

(A) 2 B) 3

(C) 4 D) 5

TER o167 SATRIHT ET ST 8§ =Aay fohat ufgen de g1 Afari 7 7 Hom
(A) 2 ) 3 s
€ 4 D) 5

According to Article 74 of the Constitution of India on whose advice does the President act ?
(A) Council of Minister (B) Vice-President

©) Sp;:aker of Loksabha (D) Governor

IR o GiIM & 3T=Se 74 o dad Ugafd feraeh! Tetrg o &1 i1 g ?

(A) ¥ uftg (B) 3wrgfd

(C) <AhaNT A (D) T=IUTA

Which of the following is a group of inner planets ?

(A) Mercury, Venus, Earth, Jupiter

(B) Venus, Earth, Mercury, Mars

(C) Earth, Mars, Venus, Jupiter

(D) Earth, Mars, Jupiter, Saturn

frferfiga @ & =5 =1 3=l TR FTTH T B 7

(A) 39, 36, T, gawafd (B) 305, oA, 4, Wit

(C) YA, WA, W5k, J@Etd (D) YA, WS, gl W
Which of the following is a correct statement with reference to latitude and longitude
respectively ?

(A) 87° North to 197° East (B) 56° North to 91° South
(C) 101° East to 192° West (D) 23° North to 66° East
FrefeTiad H | SRUST: JT&TTE 9 ST < -y H T ST ¢
(A) 87°IWHE 197° (B) 56° 3T H 91° gferur
(C) 101° Y99 & 192° 4fyem (D) 23° IR 66° I8
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Equinox is related to -

(A) 21 March (B) 29 February

(C) 22 December (D) 21 June

(A) 219=H (B) 29w T

(C) 22 feomrd (D) 215 ¥

Which range is located in the north-west direction of the Peninsular Plateau ?
(A) Vindhyachal (B) Satpura

(C) Aravalli (D) Eastern Ghats

B H TSI TR YR % Iai-ufvem femn A fRm g ¢

A) Toem=e (B) wdger

(C) IEet (D) Ydf=me

Which of the following is related to endogenic forces ?

(A) Wind, Glaciers, Volcano L)
(B) Volcano, Landslides, Earthquake
(C) Earthquake, Landslides, River
(D) Glaciers, Sea-waves, River

frafafaa 9 9 9 91 3Tasid 5ol 4 gEfRE g v
(A) e, feree, STt (B) AT, EEeH, Yohtd
(C) VM, oM, 7ol (D) Tewe, EHg-auT, e

In 1947, he was then Director General of the Archaeological Survey of India.
(A) Alexander Cunningham (B) R.C. Banerjee

%

(C) R.E.M. Wheeler (D) Sir Jhon Marshal
1947 T VR qUdcd HA&TuT <h Teehlof- SRRF-Sd o
(A) ST Hiey (B) R, SIS

(C) 3TR.3.WH. iR (D) T A AT

Which Satavahana ruler claimed to be both, a unique Brahmana (eka bamhana) and a
destroyer of the pride of Kshatriyas ?

(A) Satakarni- I (B) Shiv Skanda Satakarni

(C) Simuka (D) Gautamiputra Sri — Satakarni

fop TTqaTE I J T I ITET SR (T STeRAT) TF &R % g4 1 & S el
ERIRIN

(A) SITahU-gUH (B) f3ra g smraehuff

(C) Fg= (D) TiraHiga oft-smaehufi
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At which place in Gujarat were the teachings of Lord Mahavira and his followers
presently available were written down about 1500 years ago ?

(A) Valabhi (B) Lothal

(C) Rangpur (D) Bharuch

A FI | IUCTeY WM HEER T 3 ST shl fremd e 1500 a9 4d T §
Torm T o foreft 7 off ¢

(A) Tooreft (B) <NYd

(C) TR (D) ¥

Which ‘Tripitaka’ tells us that there were separate branches for men and women in
‘Sangha’ ?

(A) Abhidhamma Pitaka (B) Sutta Pitaka

(C) Vinaya Pitaka (D) None of these

e | gest 3TR Rl o T 1 3TeTT-37em g oft, 78 g fohd Fiftes & uadt seran 8 ¢
(A) 3rfregm foes (B) Ha fuesh

(C) o fess (D) T YIS T

Which rivers contributed significantly to Magadha’s transportation, water supplies and
making the land fertile ?

: EE
(A) Godavari — Tungabhadra (B) Ganga— Son E—%ﬁ
(C) Chambal — Mahi (D) Krishna — Kaveri

S = Al 3 w1 < A, Sl - faatn te S i 39S, S9H § gewyul AnTeH fea ¢
(A) TTHT — g (B) ¥R — ¥

(C) =&a — 1Tl (D) ST — hrell

Most of the Ashoka’s inscriptions have been found in -

(A) Prakrit Language and Brahmi Script

(B) Pali Language and Devnagari Script

(C) Sanskrit Language and Brahmi Script

(D) Punjabi Language and Gurumukhi Script

TR b STTURIY HfeRE I T & -

(A) WTha W SR SR fafy (B)  wifer et S7R <o fafy
(C) T&ha vwT R smeh faft (D) ot W iR eue fafy

Which land was granted to Brahmanas and was usually exempted from paying land
revenue and other dues to King ?

(A) Agrabhag (B) Agrahara

(C) Agradaan (D) Bhumi-dan

g I AT Y- AT ST STEIVI 3l G T ST T AT 379 {HeRL 9 371 TN o L TSI GRT
T A A A ?

(A) 3FIHM (B) 3JUBR

(C) 3T (D) fi-zM
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In which language was the “Prayaga — Prashasti” composed by Harishena, the court poet

of Samudragupta ?

(A) Prakrit (B) Hindi

(C) Pali (D) Sanskrit

“TRINT-JTTE” < ToHT TG o UTehidl GHYUT o fohg wTeT H <1 off 7
(A) e (B) fedt

(C) wifed (D) &

The Shunga dynasty was founded by which General of the Mauryas ?
(A) Pushyamitra Shunga (B) Agnimitra Shunga

(C) Vasumitra Shunga (D) Devbhuti Shunga

3 1 T T R H ST gy 6 oft 7

(A) == sgrr (B) aﬁﬁagjn

(C) =gfw (D) afar 3T

Choose the Kanishka’s court poet who composed a biography of the Buddha, the
‘Buddhacharita’.

(A) Saundranand (B) Ashvaghosha
(C) Shudrak (D) Harshvardhan
TS T TSTehidl g T8 g i Siiat, ‘Fgaita’ ht T <t oft | %‘%ﬂi
(A) HiA=< (B) 3w
©) (D) e
Match the following :
Mineral Use
(1) Lead Zinc (a) Electric Wire
(2) Copper (b) Fertilizers
(3) Gypsum (¢) Ceramic

(4) Wollastonite (d) Battery Acid
(;) 2 & @

(A) v d a
B) ¢ d a b
(C) a b v d
D) d a b v
gufera hifvg

CIEE| ELbI
(1) <fier & (a) fag@ar
(2) fen (b) I
(3) fem (c) faifies

(4) ATARHAEE (d) st 3
»m @ 6 @

(A) b v d a
B) ¢ d a b
(C) a b c d
D) d a b v
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The headquarters of North-Western Railway Division is located at

(A) Jaipur (B) Ajmer

(C) Kota (D) Jodhpur

I -TTay IeTd HUEH 1 JEATerd ferd & -

(A) SR (B) 3R

(C) reT (D) SEE

When did Rana Sanga died ?

(A) 30 January, 1528 (B) 30 July, 1527

(C) 28 August, 1529 (D) 29 November, 1530

T | < I S 7

(A) 30 SFad, 1528 (B) 303, 1527

(C) 28 3T, 1529 (D) 29 HdwH, 1530

Who was the founder of Vishnoi sect ? EEE
(A) Pipaji (B) Achalnathji Eﬁi
(C) Jambhoji (D) Ramanandji

ToreiE TrIer & Yads SiF & 7

(A) diorsit (B) SIS

(C) Sarh (D) TGS

Who was the editor of the newspaper “Pratap” which gave wide publicity to the Bijoliya
Peasant Movement ?

(A) Ganesh Shankar Vidhyarthi (B) Rama Kishan Verma

(C) Manikyalal Verma (D) Ramlal Ojha

ferstiferan fopem 3T=gier b1 SAT9eh TR ¢ aTel HHTER-9 “TdTd” & TU1eeh i 9 7
(A) TTore TreRt feremeff (B) T fohe ami

(C) TR It (D) THATH 3T

When was the Matsya Sangh established in the first phase of Rajasthan integration ?
(A) 30.03.1948 (B) 18.03.1948

(C) 11.11.1950 (D) 28.03.1949

TISTEIT — WehIehtUT & J2H <ROT H Hoe Tl <h TATHHT el 8 7

(A) 30.03.1948 (B) 18.03.1948

(C) 11.11.1950 (D) 28.03.1949
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Where was the “Rajasthan Seva Sangh” established in 1919 with the contribution of Vijay
Singh Pathik, Ramnarayan Choudhary and Haribhai Kinkar ?

(A) Bhinmal (B) Raipur

(C) Alwar (D) Wardha

1919 § TR Tl e <hl AT faerafie aftes, T =tedl 3T gies fohe &
ANTEH ¥ el 5% 7

(A) HHH (B) WX

(C) AR (D) agi

During the reign of which ruler Pichola lake was built ?

(A) Bappa Rawal (B) Maharana Lakha

(C) Rana Sanga (D) Rao Chunda

TorsTen sl <1 formior fore sTreres o et | g3 ?

(A) T T (B) HERIIT TGl

(C) TomEm (D) Ta el

“Jaisingh Karika” written by Sawai Jai Singh related to which subject ?

(A) Astrology (B) Economics

(C) Politics (D) Military administration i
o At g faiRad «srifeg siitepr A U fohe fowa @ gafaa @ 7 %‘iﬁ
(A) Sfay (B) AYWTEA

(C) THIfd (D) SFI-JoEA

‘Pichwai Painting’ related to which school of painting ?
(A) Kishangarh School of painting

(B) Bikaner school of painting

(C) Alwar school of painting

(D) Nathdwara school of painting

e e forg feeeren It @ wefaa @ ¢
(A) TersrTe fasepet et (B) siehR fersenett Sett

(C) T famehen Aeht (D) UGN fertenat 2t
‘Rangadi’ and “Nimadi’ are subdialects of which Rajasthani dialect ?
(A) Malawi (B) Wagdi

(C) Hadauti (D) Shekhawati

TP 3R ey form ToreTh aiett i Jusiferat € 7

(A) T (B) amEl

(C) =l (D) SrETE

Who was also known as ‘Meera of Wagad’ ?

(A) Meera Bai (B) Gavari Bai

(C) Koyal Bai (D) Kali Bai

I GTTS Sl HR 6 98 F it ST STt oft ¢

(A) (B) TR aTE

(C) g a8 (D) hTell 918
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Which one of the following is not the aim of Social Science ?
(A) Intellectual and Mental development

(B) Utilization of leisure time

(C) Helpful in bringing social changes

(D) Teaching etiquettes

= O § o wr amiies fog s as TR 2
(A) wifgsh T A foepm (B)  3TSRIY < HHY I FGUATT HLAT
(C) @mHTRSTeh IiEdH @ | g a1 (D) fareqor fersrm

The importance of teaching-learning material in Social Science is :

(A) Save time and energy (B) Clarity of the subject matter

(C) Both (A) and (B) are wrong (D) Both (A) and (B) are correct

raToTeh fosme | freqor-srferm amff w1 A B -
(A) TUF 3R qfem 6t s=q (B) forsa s bt wrman Eﬁf
(€) (A) 3R (B) GHi Terd ¢ | (D) (A) 3R (B)GHI T E |

‘Social Science refers to those branches of the study that deal with humans in their social
relations.’ This definition was given by —

(A) Columbia Encyclopedia

(B) Britannica Encyclopedia

(C) Encyclopedia of Social Sciences

(D) Report of, The Commission on Social Studies, USA

“graTforeh foR & drerd 31 Y 39 ITEIST ¥ 8 S HHE 0T i 3k AT gl

TeH H TS H g hid 7 |7 a8 IR 4 g -
(A) ShieAfr CETseRArdifean

(B) Tsrefaent wramgaRAdifean

(C) TAETSFAEAT 3AT6 FIeTer Agat

(D) HTHTISTe STETF AR, 3,04, T, i fare

Use of Information Technology in Education started first in which country ?

(A) Britain (B) USA

(C) France (D) Germany
T qehrieh! <hT 31871 H FeE Tt 39RT ford ow | fopam I 2
(A) Tores (B) I.T4.T.

(C) wiH (D)
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Which criteria is not correct for a good evaluation ?

(A) Validity (B) Reliability

(C) Objectivity (D) Subjectivity

Teh 38 HeATeh o {oTT i | H1UCS Tl T8 8 7

(A) duar (B) Torarefiar

(C) wEgsar (D) fRuReRar
Values of Social Science teaching are —

(A) Social Value (B) Democratic Value
(C) Artistic and Recreational Value (D) All of the above
TSR for fveror 6 g 2 -

(A) HTHI e (B) St gea

(C) SHeATeHeh I FARSTHD oo (D) 3uTrerd At

Summative Assessment is inappropriate for the following :

(A) Deciding upon the grade

(B) Summarising student learning

(C) End of the term assessment

(D) Monitoring the progress of teaching — learning process

HehoTTcHeh HeATeh [+ oh 1T STIged & — mym
(A) vt () s o Eﬁ:&
(B) foremeff tferm &1 aR wew AR F T

(C) AT qoATehd |

(D) Treror—arferm fsran &t woifar W frmoeft o

Which of the following subject is not included in social science at the upper primary level ?

(A) History (B) Civics

©) .Geography (D) Psychology

=1 5 @ o a1 faw 3= s fies S oX |rTisTes fos | |ffod 98 8 7
(A) sfoemE (B) mihITE

(C) (D) IR

Which one of the following is the correct example of ‘Application objective’ of teaching ?
(A) Define (B) Classify

(C) Establish (D) Recall

o o 3 freror & ST 323 BT T SeE  —

(A) TTITST AT (B) ST ST

(C)  TTfere et (D)  TcATERTOT AT

Main components of Information Technology are —

(A) Software (B) Hardware

(C) User . (D) All of the above

T[T hr1ohl oh T Th & —

(A) @RER (B) BEIW

(C) Ul (D) 39 aeft
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Which permanent wind blows between 30° South to 60° South latitudes ?
(A) South — East trade winds (B) Polar Easterlies
(C) Westerlies winds (D) North-East trade winds

1 o rEf ge 30° el sretie & 60° gfrolt srerst % we yerfyd Bt @ ?
(A) cleqor-gdff =T geH (B) et ge qa

(C) UGS 9a (D) IT-ET =rTie ga

Where do willy-willies cyclones originate ?

(A) West Australia (B) Pacific Ocean

(C) Atlantic Ocean (D) Indian Ocean

forefl-forefis e Fei ST B & 7

(A) afvest stegfern (B) 9T HETETR

(C) 3eAleeh HETETR (D) feg #g™@TR

Which of the following oceanic currents are located in the South Atlantic Ocean ?
(1) Brazilian Current (2) Benguela Current

(3) Oyashio Current (4) Gulf Stream Current %%E:Z
(A) 2,4 B) 1,2 &

(C) 3,4 D) 1,2,4

FrfaRad FerEmiE garasti § § S | 9 gfaof sfedries remrR | fea | 7
(1) SISifoRE g (2) ST 9w

(3) ITTmE 9 (4) TeH W 9T

(A) 2,4 B) 1,2

€) 3,4 D) 1,2,4

Dehradun, Kotlidun and Patlidun are located at

(A) Between Himadri and Himachal

(B) Between Himachal and Shiwaliks

(C) South of Shiwaliks

(D) North of Himadri

TG, hicelie Ta qeeiied ferd @ -

(A) Teurdt 9 feameet & aex (B) Temreet a fRranferss & ae
(C) Rrarfas selmfwmiow (D) faamd % 3o wril w

In August, at which latitude does the Subtropical Easterly Jet Stream blow in India ?

(A) 8°North (B) 15° North
(C) 27° North (D) 37° North
e TE U W W SuTureh s qeff Sie & am fehw sratien W vefyd g 8 7
(A) 83w (B) 15°3W

(C) 27°3W (D) 37°3W
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The correct order of the physical regions of Rajasthan located from North to South is
(A) Vindhyan range — Luni Basin — Shekhawati Region — Mahi Plains

(B) Luni Basin — Vindhyan range — Shekhawati Region — Mahi Plains

(C) Shekawati Region — Vindhyan range — Luni Basin — Mabhi Plains

(D) Plains of Ghaghar — Bhorat Plateau — Shekhawati Region — Luni Basin
TSR o Wik TCT o1 3T § G1&avT feem o Srafefd o1 @&l A 8 -

(A) Taem aoft — ot 9fem — SraTedt yeo — AT 1 AeH

(B) i s — faem 2oft — Sraradt wewr — AiEl 1 HgH

(C) I@Tad Y& — e Jvft — ot afem — ATl 1AM

(D) TR 1 HGH — HIE T ISR — IGEE T — ot SfeH

Which of the following is an example of Arabian Sea drainage system ?
(A) Menal, Kothari, Berach (B) Jojri, Berach, Menal

(C) Kothari, Som, Ruparel (D) Jojri, Bandi, Jawai
frafafed & & sne g svams 0 51 SgEw R
(A) TS, HIBHI, 959 (B) Wisiel, 9ed, AT
(C) HISHY, HH, TR (D) SIS, S, et
i

Match the following : Eﬁi

Name of Sanctuary Wild animal
(1) Desert National Park  (a) Panther
(2) Todgarh Raoli (b) Bear
(3) Sita Mata (c) Great Indian Bustard
(4) Mount Abu (d) Flying Squirrel

Hm @ G @
(A) ¢ a d b
B) a c b d
< d a v b
(D) b d a v
FHTAd I :
HAWIAROG HT TH ERESIC]

() TEwesa™  (a) dgam
(2) 2reme Taett (b) s

(3) ¥ A (c) e

(4) WRE= 3T (d) 3= firered)
M @ G @4

(A) ¢ a d b

(B) a c b d

< d a v b

D) b d a c
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INSTRUCTIONS / féu
(Read carefully and comply / &9 & 9 3R e #%)
IMPORTANT / wieear ot

. In Section II (Language-I) a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the

. In Section III (Language-II) a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place in the

. The candidate has t0 answer of that subject in Section (IV a) Mathematics and Science or (IV b) Social Studies as selected by the candidate

Online Appli F
@%1??(5%cstl%nsﬂ%r%maauaﬁﬁwwaﬁaﬁ%ﬁﬂwwwawﬁ%mml%mﬁmaﬁﬁwﬁﬁm%|

Online Application Form. The Language-II will be different from Language-1.
GUE [11 (TS~ 11) W6 ATETh T 1 b AT ST & IoT8 AT BT S SIS WIS - [[h &N AT ST1ae - T A R | e - 11 arer - 18 forea et |

OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not

Question Bookleat%t Nfl%,'-mber fre 3 e T R ;. 2 fiz .

s () 9 NAELG I h LiRE THE 5h. Ky | TR OMR I =T H{ATHT

- ai%ﬁmﬂ—mm@ﬁmw %amrr(q'(%maﬁm|

in the Online Applicaton Form.

If a candidate answers the questions of the langu dge or subject other than selected in the Online Application Form, the candidate shall be

personally responsible _for it and it would be treated as wrong.

gﬂaﬁﬁmwggﬁm 1V a) TG T fa=m a1 (1V b) AT segaa & 96 fawa & weEl & g & g, S fowa &1 s s
AT -9 |

gﬁ%awa AT TG -U= | =wgfad 9T a1 fawa % WAt F e 7 G o fawa & wedl @1 g et @ ) 9g g i @ A e

qAT AT AT ST |

Read complete instructions carefully and fill the details from S1. No. 1 to 7 in the OMR Answer Sheet and S1. No. 1 to 4 in the Question
Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the consequences arising during
scanmeé of your OMR Answer Sheet.
TTH ﬁtmlﬁ7WOMRsﬁE®W1ﬁ4a$m—«rg%m(§aﬁsz)aﬁu%|uﬁmwaﬁ%%ﬁa¥w
‘mﬁmzﬁnwmﬁ% OMR <ffe it THTT & Fewaed g 9T TROmE & Fid T @ et g |
The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates will open
the Question Booklet seals. Check whether the Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number required in
OMR Sheet will be as per admit card issued to the candidate and also mentioned on the top of the Questlon Booklet.
EECE T 96 I8 UL 150 W& © | Tt ey 57 9 & W € w9 - & "o wg gifeag = & T ge-gfeaan # 150
Tee § S 6 U8 e 3§y 90 @& &_| OMR ffe W firge TR gl @ SR o6 T8 793-99 & AGER sAfeha Bl € T W
T -GfEqHT % SO AT R AT sifera R €I R |
All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one mark. There
will be no negative marking for wrong answers.
T3t we Tgfrmedia yER % & | o W o U fershed € A R | e e % fordt frarffia ofe w2 | o wrare 3 Rl ot ot et R wmi |
All questions other than language questions of Sections II and III shall be bilingual.
WH-YA & HINT G2 @8 11 T 111 & 9T o AfaiRed A8 a9 guet & we fgwrha g |
In any event of any mistake_in any question/s, candidates will not be penalized. However ng corrections will be made in question/s during the examination.
w9 7 ot e % fosd TreTa i fohEl WeRR T THETA et GITT | TXTTT ST ST 5 W1 # {ohel] TR T G el Beardl
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the
uestion Booklet. No additional paper shall be provided.
TR % TF h1d v W - et g ST S1 AT € | 38 WA -t @ 78 wie. | forelt yoer wht srfrfkad wne Suwes A€t saran s |
Use of Log tables, Calculator, Slide rule, Moblle phone, Pager, Dlgltal diary, Bluetooth, Microphone or any other electronic item/instrument
st ot glowed, Thelp e wil et n disqualficaion fore o S/ e 0 i At
, TES(1es I, ARG AT I YHR HT SEEu] ki
%Iﬁmﬂmqﬁm%mﬁﬁa%mmm% e ™
OMR Answer Sheet will be provided along with Question Booklet separately.
OMR ¢flc Us7-qeqeht & a19 SAfaierd Je i G%Tﬁ
The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
Answer Sheet. The Question Bookletseal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to4 entries correctly
on the Question Booklet. After opening the Question Booklet, ensure that any page/ question is not missing / not printed / torn / repeated. In case,
you find any defect anywhere in the Question Booklet, immediately inform the Invigilator and get it replaced within 5 minutes by the Invigilator.
Warmn Bell will ring at 5 minutes before closer of examination and the last long bell will ring at closer of exammatlon
YT -TIRqHT URIEAT_STTEA T & 10 foe 4& of st | awaﬁmaswwﬁOMRaﬁzﬁwﬁu%&uﬁ YRR § W_| T -
g%wa?rﬂﬁa,qﬁmm% 5 foete v @ra qu) % w1 ¥ 4 1 wlafsedt wit Hﬁwﬁ%ﬁ |1;rs‘=r gﬁ:—lm@ﬂﬁ%qsamqﬁma'fw
gﬁﬁmaﬁ%wﬁﬁaﬁaww%/aﬁémﬂwaﬁﬁ% BUTE It B /AT Tg FE I AR 93 T © | TG A9A-
g%mﬁ R H HTE Ffe IIE ST T qehied STeqeh H AT Sﬁ:l'rﬁ_’a?“ﬁ'cl'{ & T AUAT T - eI chl dqvicuﬁ | ﬂdlddl‘il?ﬁ
WT%}%SWH@‘W@WW@Q%W LCEC
Write your Name, Exam Center Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Paper Booklet Number
in the gpace pr0v1ded in the Questlon Booklet as well as in the OMR Answer Sheet.
- 1%'T:%OMR sffe R feiika =M W TW, e S B FE, TEIER, AHF, FE-IEaE €W Fi8, fEe FmHie @ v gieaw
ShHTeh 3ifehd |
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find out which
answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding
to the question. For marking answers use blue/black ballpoint pen only Gel pens/pencils are not allowed.
3T o TR deh (9% SR A, B, CI DH Q@I E_| AT ang IR BT FIT X I8 IR & OMR e H G {7 Wt shTeh o awed
Tﬁéﬁmwsﬁmﬁ|wﬁaﬁaaﬁ%%ﬁﬁ%mmwwﬁ?wéw&ﬁ®|§Eﬁﬂmﬁﬁr«saﬂ affa® |

Correct Method : [ corrECT /st Wrong Method : [ wroNG /e WRONG /e WRONG /et WRONG / e

i 000 @| ™™ ROOO||oQ00o||0o000O||CeC e

OMR Answer Sheet is designed for computer evaluation. If you donot follow the instructions given above and at the backside ofthe OMR Answer
Sheet, 1t m make evaluation b}é;computer dlfﬁcult Any resultant loss to the candldate on the above account shall be of the candidate only.

OMRS Egﬁ OMR ¢fie s fuee fea T fgant TE R, T B TIRT STIhT
%|wwﬁqﬁmﬁﬁ%ﬁ s ﬁ%ﬁwﬁm @?W e B

No candldate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy (Duplicate) so that the Original Copy is not mutilated
in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator before leaving the examination hall.
Candidate can carry only the Candldate s OMR [} w1th him/her. Questlon Booklet i 1s not allowed to be taken by the candidate.
TE Rredf STt Hel TSI b qd URien HE H TR IOMRQ mﬁi’-{ a%ﬁ%was TRERYA feRaT
%ﬁ% | swefl gaaT @ e aﬁw%(ajf%ﬂ'ﬁ)ﬁnysr% ? ug “g_?%ﬁl‘ﬁ&ﬂma
i‘gawaﬁOMRﬁF‘guﬁ@qw ok |3{Wﬂ°faﬁl?vrarq'rﬁ0MRaﬁ %ﬁa{qﬁmﬁiﬂ






